Alpha 1-800-653-5112 Fax 1-952-856-5158

aviation, inc. 1500 East Main Street
Owatonna, Minnesota 55060

BOX “K” - WHEEL KIT INSTALLATION for ALL MODELS

THIS BOX CONTAINS THE FOLLOWING:
1 Left Wheel Bracket 2 3/8x 16 Nuts
1 Right Wheel Bracket 2 3/8 Lock Washers
2 Wheels 8 1/4x20x 3/4” Bolts
2 3/8x16x 1” Bolts 8 1/4 x 20 Lock Nuts .
O A %50
- 6o
WHEEL INSTALLATION

The wheels are installed on two of the three legs of the jack and are designed to allow the jack to be rolled
about as needed.

When installed, these wheels are simply engaged by tilting the jack back onto the wheels and preceding to
role the jack to its desired location.

STEP 1: Slide the left mounting bracket into the “C” channel of a leg and secure with the brace mounting
bolts or if there is an open hole, by adding a 3/8 x 17 bolt.

STEP 2: Into the leg to the right of the leg chosen for step 1, slide the right mounting bracket into the “C”
channel and secure as in step 1.

STEP 3: Install the wheels to the brackets using the ¥4 screws and nuts supplied.

11/23/22



